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Abstract. It is proposed to apply the way of verifying efficiency of the unknown parameter estimating
method, in statistical models with observations of a process defined by the stochastic differential
equation, controlled by Lévy noise.
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dXt = aθ(Xt)dt+ dZt, X0 = x0.  �!
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ln(x, y) = (
√

n(x − y))2,

������	�) ���	�� θ̂n � $��������� ε > 0

lim inf
n→∞ sup

|θ−θ0|<ε

Eθ(
√

n(θ̂n − θ))2 ≥ I−1(θ0),  8!

�
 I(θ0) # ���	��� 	������	�� �	�������� 9�7
��� 
�$
�

I(θ0) = lim
n→∞

1
n

In(θ0).
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I(θ0) = Eθ0

(
gh(θ0, Xst

0 , Xst
h )
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∂θpt(θ;x, y) = gt(θ;x, y)pt(θ;x, y), %-'

� Xst . ���)�������� ����/���� �������� %0'( 1���� � ������ ��$�� ��
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�������� Δ > 0 ��������� ����� n0 = n0(Δ) ������ ��∣∣∣∣I(θ0)− Eθ0

x

(
gh(θ0, Xhn0 , Xh(n0+1))

)2∣∣∣∣ < Δ, %6'
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Eθ0
x

(
gh(θ0, Xhn0 , Xh(n0+1))

)2
≤ Eθ

xΞh(n0)2, %�'


� Ξh(n0) ��������� �� +������, %00'( 9�������� �
������� �����, �)���� 
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I(θ0) ≤ Eθ0
x Ξh(n0)2 +Δ =: J(θ0, n0) + Δ.
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���� �)���� θ̂n ����
���*� 
�������� θ0=
• *�������� N ���������� 
��)��� X ��
���*� ��������� %0' � θ = θ̂n � 
�

������ � ��� ��
���� ������� ������� n=
• ������,��� �)���� θ̂k

n� k = 1, . . . , N � �����
��� ��������� 
��
����,

s2N (θ̂n) = 1
N

∑N
k=1

(√
n(θ̂k

n − θ̂n)
)2

=

• ������,��� n0 � *�������� �� N ���������� X � θ = θ̂n� 
� ������ � ���
������,��� Ξk

h(n0)� k = 1, . . . , N =
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�� JN (θ̂n, n0) = 1

N

∑N
k=1 Ξ

k
h(n0)
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Zt = ct+
∫ t

0

∫
|u|>1

uν(ds, du) +
∫ t

0

∫
|u|≤1

uν̃(ds, du),

�� ν ����
�
�� �
�

�� 	��� � 	��
� ���������
��� dsμ(du)� ν̃(ds, du) = ν(ds, du) −
dsμ(du) � ����
����� 

	���
���� 	���� ����	
 ������
����  
 μ ���
�
�!��" ��#
������ �	
���

�� $�% ��� ���

&
 κ > 0� ∫
|u|≥1

u2+κμ(du) <∞;

$��% ��� ���

&
 u0 > 0� ���'���� μ �� [−u0, u0] 	�" �
�����  ��!����!

σ ∈ C2 ([−u0, 0) ∪ (0, u0]) ;
$���% ����" C0 ��
��  


|σ′(u)| ≤ C0|u|−1σ(u), |σ′′(u)| ≤ C0u
−2σ(u), |u| ∈ (0, u0];

$�(%
(
log 1

ε

)−1
μ
(
u : |u| ≥ ε

)
→∞, ε → 0.

)�'����	 
���
	 ��
����� �����  
 ���
�
�!����! �	
�� �� " ��������	
 α�
�

��
 ������� $�������� α������� ���������%�  
 ����
���	 ���
	 ����
���! � 	
#
����* ���+������
���� �

�
	����* 	
����* ��
*������
, �
�����!�
���� �
 
 $��#
���!�� 
+&
�
����� �� ����
�����	� �
�������	� 	
'�� ���-�� � ./0� .10%�
)���
��
 a +���	
 ������
��� ���������

�� $�% a 	�" ���������� �
*���� ∂i+j
xiθj a� i ≤ 3� j ≤ 22

$��% �
*���� ∂xa� ∂2xxa� ∂2xθa� ∂
3
xxxa� ∂3xθθa� ∂

3
xxθa� ∂

4
xxxθa 
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|aθ(x)|+ |∂θaθ(x)| + |∂2θθaθ(x)| ≤ C(1 + |x|), θ ∈ Θ, x ∈ R;
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�� (θ−, θ+) ⊂ Θ �
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lim sup
|x|→+∞

aθ(x)
x

< 0 ����
	���
 �
 θ ∈ (θ−, θ+).
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‖κ1 − κ2‖TV =
∫

R

∣∣∣∣dκ1
dλ

− dκ2
dλ

∣∣∣∣ dλ,

�� λ � ���
� σ#�
������� 	��� ��
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 κi � λ� i = 1, 2�
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 (t, x, y) ∈ (0,∞)×R×R� ;
	� $���� .�0% ��� +��!#
�
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�*  


pt(θ;x, y) > 0, $<%
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Pt,θ
x,y = lim

ε→0
Pθ

x

(
·
∣∣∣|Xt − y| ≤ ε

)
,

�	� ��������������� �	 �������� ��	
� ��� ���������� ���
��� X�� ��������� Et,θ
x,y

� ����������� ���������� �������� Pt,θ
x,y�

��	� � !"# ���� ��������$ �� �� ����� �� ��������� %��	
�� gt(θ;x, y) � %������
�&� �����	�� ����
������ ����� ����'

gt(θ;x, y) =

{
∂θ log pt(θ;x, y) = Et,θ

x,yΞt, pt(θ;x, y) > 0,
0, ���	(�.

�)�

*�� ��
�$ ��� �������� %������ �� ����� ��������
� ���+�� ����� ��� Ξt ���
������ �������� ���	� ����������$ �� �����,���� �������� -������� ��� �����.
�����	���+ ���
���� �������
� � !"#�
/�%�	����� u1 ∈ (0, u0)$ �� u0 ����� � ����� � ����$ � ��������� ����� ����������

%��	
�, � : R → R
+ � ���� ���, ��+����, � ��	�$ ��

�(u) =

{
u2, |u| ≤ u1;
0, |u| ≥ u0.

��������� Qc(x)$ c ∈ R � �������� � ������ ���� s = c ����0��	� ������ 1�(�

q′(s) = �(q(s)), q(0) = x.

���� {Qc, c ∈ R} � 
���� ����������� R � ∂cQc(x)|c=0 = �(x)�

��������	 
��� 2��	
����� F ∈ L2(Ω,F , P) ����������� 	
���	

��� �
��������

����
�$ �	�� ����� L2(Ω,F , P).
����
�

D̂F = lim
c→0

1
c

(
QcF − F

)
. �3�

/���	���� D ��������� D̂ ���������
� ���������(����� �3� ����������� 	
���	

�

���� ��������� 4��� ���5 �������� δ = D∗ ����������� �����
���� �����������

��� ����
���
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/
���� � !"# �� ����� � �������� ���
��� Z � ���
� t � ����� ���+������� ��%�.
���
�5����� �

DZt =
∫ t

0

∫
R

�(u)ν(ds, du), D2Zt =
∫ t

0

∫
R

�(u)�′(u)ν(ds, du),

�����
� ���� ��� ������� ���������� δ �

δ(1) = −
∫ t

0

∫
R

(σ(u)�(u))′

σ(u)
ν̃(ds, du). �6�

1��� ��
�$ �� ���� � �� ��������� X � L2.��%����
�5����5 �������� θ$ � ��������
∂θX � ������ ���� t � ���+������� ��%����
�5�����$ �������� ����
� X � ���
� t
��	� � ����� ���+������� ��%����
�5������
7�+�5 t0 > 0 � %�	������� 8��
������ �������� �9� �� ��������, ���	�, Xt0 =

xt0 � ��������� Y 1
t = ∂θXt$ Y 2

t = DXt$ Y 3
t = D∂θXt$ Y 4

t = D2Xt� ���� ����� !"#�
Y t := (Y 1

t , . . . , Y 4
t ) � ����0��	�� �������⎧⎪⎪⎪⎪⎪⎪⎨

⎪⎪⎪⎪⎪⎪⎩

dY 1
t = ∂xaθ(Xt)Y 1

t dt+ ∂θaθ(Xt)dt;
dY 2

t = ∂xaθ(Xt)Y 2
t dt+ dDZt;

dY 3
t = ∂xaθ(Xt)Y 3

t dt+
(
∂xθaθ(Xt)Y 2

t + ∂xxaθ(Xt)Y 1
t Y 2

t

)
dt;

dY 4
t = ∂xaθ(Xt)Y 4

t dt+ ∂xxaθ(Xt)(Y 2
t )

2dt+ dD2Zt;
Y i

t0 = 0, i = 1, . . . , 4.
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Ξh(t0) =
(∂θXt0+h)δ(1)

DXt0+h
+
(∂θXt0+h)D2Xt0+h

(DXt0+h)2
− D(∂θXt0+h)

DXt0+h
. $%%&

'� ��������� �	����
��
���� $"&

(������	� π ) ����������� 	��� ���*��� X �

Ξst
h =

(∂θX
st
h )δ(1)

DXst
h

+
(∂θX

st
h )D

2Xst
h

(DXst
h )2

− D(∂θX
st
h )

DXst
h

.
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 t0 > 0 �� x ∈ R ������� �
����� ����� C1
P(x)� C2

P�

CΞ(x, h) �� CΞst(h) ��	�� �
 ��� ���� θ ∈ Θ
‖Pθ

x,t0 − π‖TV ≤ eC1
P (x)−C2

Pt0 ,

Eθ
x|Ξh(t0)|4 ≤ CΞ(x, h), Eθ|Ξst

h |4 ≤ CΞst(h).
�
�� ∣∣∣∣I(θ) − Eθ

x

(
gh(θ, Xt0 , Xt0+h)

)2∣∣∣∣ ≤ eK1−K2t0 ,

��

K1 = ln 2 +
1
2
ln (CΞ(x, h) + CΞst(h)) +

1
2
C1

P(x), K2 =
1
2
C2

P.

���������� '�%� ������ ��� 
������� C1
P �� C2

P �
�
�� ����	��� � +����	� '�%� ���

������� CΞ �� CΞst � ,�	�- '�. ) '�/�

�
�������� 0�������� ����� ���� ��������1 ,�	� 2 !/#� ����
 ��	 �������� ����
������ K1 �� K2� ��3 ��� ����	� �� � �-�	�������

4 ���� � !5# 
	��� � �� 	 6 ��������	� ��� ���
����� �
������*���� � 
����� 

��� ���*��� X � ������ ��
� � ���*��� Y = (Y 1, Y 2)� 7� Y 1 	�6 �������� Pθ

x� Y 2 	�6
�������� Xst � ��� ���- t > 0

P (Y 1
t �= Y 2

t ) ≤ eC1
P (x)−C2

Pt.

���-��
1�� ������1 ���������� ������	�∣∣∣∣I(θ)− Eθ
x

(
gh(θ, Xt0 , Xt0+h)

)2∣∣∣∣ =
∣∣∣∣E(gh(θ, Y 1

t0 , Y
1
t0+h)

)2
− E

(
gh(θ, Y 2

t0 , Y
2
t0+h)

)2∣∣∣∣
≤ E

∣∣∣∣(gh(θ, Y 1
t0 , Y

1
t0+h)

)2
−

(
gh(θ, Y 2

t0 , Y
2
t0+h)

)2∣∣∣∣1{(Y 1
t0

,Y 1
t0+h) �=(Y 2

t0
,Y 2

t0+h)}

≤
(

E

((
gh(θ, Y 1

t0 , Y
1
t0+h)

)2
−

(
gh(θ, Y 2

t0 , Y
2
t0+h)

)2)2
) 1

2

× (
P (Y 1

t0 �= Y 2
t0) + P (Y 1

t0+h �= Y 2
t0+h)

) 1
2

≤ 2
(

E
(
gh(θ, Y 1

t0 , Y
1
t0+h)

)4
+ E

(
gh(θ, Y 1

t0 , Y
1
t0+h)

)4) 1
2

e
1
2 (C

1
P (x)−C2

Pt0).

0��� �� ���������1 86����� ��� 
	���� � 	���	������ � ����������

E
(
gh(θ, Y 1

t0 , Y
1
t0+h)

)4
= Eθ

x

(
gh(θ, Xt0 , Xt0+h)

)4
= Eθ

x

(
Eh,θ

Xt0 ,Xt0+h
Ξh(t0)

)4
≤ Eθ

xEh,θ
Xt0 ,Xt0+h

Ξh(t0)4 = Eθ
xΞh(t0)4 ≤ CΞ(x, h).

9���� �����

E
(
gh(θ, Y 2

t0 , Y
2
t0+h)

)4
= Eθ

(
gh(θ, Xst

0 , Xst
h )

)4
≤ CΞst(h).



�� �� �� ���	
��
� � �� �� ��
	�	��

��������	
 ���
��� ��
 �������������� �
���
�� ���������� ���
� �
��������� C1

P(x) �� C2
P� ��� ������ �����
�� C1

P(x) � C
2
P ����
��
����� ��������

��� � !� ��� "��#� ������� �
������ ��$�
	����%

A1 = sup
x∈R,θ∈Θ

|∂xaθ(x)|, A2 = sup
x∈R,θ∈Θ

|∂2xxaθ(x)|;

��� ����
& t, ε, ζ, ρ, �, R0, R > 0' γ, δ ∈ (0, 1) � ����
�
 Γ ∈ R �
��(' )� μ(Γ) < +∞

L = (ε�A1 + 2εR+ 4ζ)A1e
tA1 + εA2

1e
2tA1

(
�(ε+ �) +

tA2�
2

2

)
,

Π = inf
x

μ
(
u ∈ Γ : |aθ(x+ u)− aθ(x)| > ρ, |u| ≤ �

)
,

*1 =
(
1− exp

(
−ε

[
t

ε

]
Πe−εμ(Γ)

(
1− 5ε

2ζ2

∫
Γc

|u|2μ(du)
)))

+[z] = max{n ∈ Z : n ≤ z} , "��
 	
��
�
 	
��
 z-.

*2 = sup
|x0|≤R0

P

(
sup
r≤t

|X(r)| > R− εA1�

2
etA1

)
.

/�&
0M , ����
�
 �
& ϕ ∈ C2(R)' ��� ��
& 1���"��

x→
∫
|u|>1

ϕ(x+ u)μ(du)

� ���
���� ���������� 2���
���� ��� ϕ ∈M
Aϕ(x) = ϕ′(x)aθ(x) +

∫
R

(ϕ(x+ u)− ϕ(x)− ϕ′(x)u1|u|≤1)μ(du), x ∈ R.

	
��
�� 
��� � ' ������
 ���! ��������	
� ���
�����

 - ����	 ������	
�� ������� ϕ ∈M � �
��� α, β > 0 
���� ��

Aϕ ≤ −αϕ+ β, ϕ(x)→ +∞, |x| → +∞;

�- L ≤ γρe−2tA1 , κe3tA1 ≤ 1
2ε(1− δ)(1− γ)ρ�

3- �����
� t1, R1 > 0 � c ∈ (0, 1) 
���� ��

χ := inf
|x|≤R1,|y|≤R1

sup
ξ

d
=X(x,t1),η

d
=X(y,t1)

P (|ξ − η| < κ, |ξ| ≤ R0) > 0,

ϕ(x) + ϕ(y) ≥ max
(
2β
cα

, 1
)

, max{|x|, |y|} ≥ R1.

���� ������ X 
�	 	���� ��������
�� 
��� π � ����������� ������

‖Pθ
x,s − π‖TV ≤ eC1

P (x)−C2
Ps, s ≥ 0,

��

C1
P(x) = ln(1 + ϕ(x)) +

(1− c)αT

2
+ max

(
ln

(
β

α

)
, 0

)
+ ln

(
4

1− (1 − ς)1/2

)
,

C2P =
(1− c)α

4max(Q, 1)
,

T = t+ t1, ς = χδ

(
1− γ

1 + γ

)2

(P1 − P2),

Q =
1

ln (1/ς)

(
(1− c)α

2
T + ln

(
1 +

4β
α
+ 4 sup

|x|≤R1

φ(x)

))
,

4
$�
	
��' )� � �
���� �
�
��� ����
  - ������
 +����
 5������
- �
�����6
���� ��
������ �7! 
�� �8!' 
 ����
 �- �
 3- ��
������ � !�



������ ����	
����	� 
�	��� ���������� ��

��������� CΞ �� CΞst � ��� ���� ��� 	
���
 ����� CΞ � CΞst 
������
� ���

�

����
�
 ���� �������
�� �� ��������� � ������� ���� 

	
�� ��
� ����� ���	� 
 ������
 ��
 	
��������� ��� ������� ϕ(x) = |x|p� p ≥ 2
�� ����
�
 αp �� βp� ����� ������� ����� Ci

a > 0� i = 1, 2 ����� �� ��� ���� ��
�

x ∈ R � θ ∈ Θ
|∂θaθ(x)| ≤ C1

a(1 + |x|), |∂xaθ(x)| ≤ C2
a . ��!�

!���

�� ��� ���� ��
� t ≥ 0 �� x ∈ R

Eθ
x|Xt|p ≤ |x|p + αp

βp
. ��"�

!� ��� ���� ��
� h > 0 �� x ∈ R

Eθ
x|∂θXt0+h|p ≤ C∂X(x, p, h),

��

C∂X(x, p, h) = 2p−1(C1
ah)p

(
1 + |x|p + 2αp

βp

)
eC2

ahp.

"�	������� #$�����
�%�

� ��"� & 
�������� '��
 " " ()* 
+�$
���%
 $��%� ���
�

� �
����
 ��,� � �
�������
�� ������ ����-
��

∂θXt0+h =
∫ t0+h

t0

(
∂xaθ(Xs)∂θXs + ∂θaθ(Xs)

)
ds.

+����
� 	 �������

�� ��!� ��&��

|∂θXt0+h| ≤ C2
a

∫ t0+h

t0

|∂θXs|ds+ C1
a

∫ t0+h

t0

(
1 + |Xs|

)
ds

= C2
a

∫ t0+h

t0

|∂θXs|ds+ C1
ah+ C1

a

∫ t0+h

t0

|Xs|ds,

�� ��	�� 	 ����� .��
����/0����
� ��&

|∂θXt0+h| ≤
(
C1

ah+ C1
a

∫ t0+h

t0

|Xs|ds
)
eC2

ah.

1���

|∂θXt0+h|p ≤ 2p−1
(
(C1

ah)p + (C1
a)

p

(∫ t0+h

t0

|Xs|ds

)p )
eC2

ahp

≤ 2p−1
(
(C1

ah)p + (C1
a)

php−1
∫ t0+h

t0

|Xs|pds
)
eC2

ahp.

2	��%
 �� ����
 ��"�� ����-
�� $���� ������
�

� ����

��3 
����
����

Eθ
xt0
|∂θXt0+h|p ≤ 2p−1

(
(C1

ah)p + (C1
a)

php−1
∫ t0+h

t0

(
|xt0 |p +

αp

βp

)
ds

)
eC2

ahp

= 2p−1(C1
ah)p

(
1 + |xt0 |p +

αp

βp

)
eC2

ahp.

4�����5
�� ����
����%
�� �$�����
�%�

�� ��"� �� ��	� �
���
��

Eθ
x|∂θXt0+h|p = Eθ

xEθ
Xt0
|∂θXt0+h|p ≤ Eθ

x

(
2p−1(C1

ah)p
(
1 + |Xt0 |p +

αp

βp

)
eC2

ahp

)

= 2p−1(C1
ah)p

(
1 + Eθ

x|Xt0 |p +
αp

βp

)
eC2

ahp ≤ 2p−1(C1
ah)p

(
1 + |x|p + 2αp

βp

)
eC2

ahp,

�� 	����%�& ������

� ���
 �



�� �� �� ���	
��
� � �� �� ��
	�	��

�������� �	
� ��
������� �����������

���� ���� ����� ���	
�
	 ��	�� 
��� ���� ����������	 
�����
��

• ��
���� ����� Ci
a > 0� i = 3, 4 ����� �	 ���  ���!���� x ∈ R � θ ∈ Θ
|∂xθaθ(x)| ≤ C3

a , |∂xxaθ(x)| ≤ C4
a .

• ��� �	"
	#	 h > 0� p ≥ 2 ��
���� �	���
� ����� CDZ(p, h) �� CD2Z(p, h)
����� �	

E|DZh|p ≤ CDZ(p, h), E|D2Zh|p ≤ CD2Z(p, h).

$	�� ���  ���!��	#	 x ∈ R

Eθ
x|DXt0+h|p ≤ CDX(p, h),

Eθ
x|D2Xt0+h|p ≤ CD2X(p, h),

Eθ
x|D∂θXt0+h|p ≤ CD∂X(x, p, h),

��

CDX(p, h) = CDZ(p, h)eC2
ahp,

CD2X(p, h) = 2p−1
(
(C4

ah)pCDX(2p, h) + CD2Z(p, h)
)
eC2

ahp,

CD∂X(x, p, h) = 2p−1
(
(C3

ah)pCDX(p, h) + (C4
ah)p

(
C∂X(x, 2p, h)CDX(2p, h)

) 1
2
)
eC2

ahp.

���� ���� ����� ���	
�
	 ��	�� 
��� ���� ���� ����� �	����	�
���� {εn, n ≥ 1}
�	���
�� ���	�	 �	
	�	

� �� ���

∑+∞
n=1 εp

n� p ≥ 2 � ���!����� "	�� ���  ���#��	�	
x ∈ R

Eθ
x|DXt0+h|−p ≤ C−DX(p, h), ����

��

C−DX(p, h) =
∞∑

k=1

ε−p
k+1e

−hμk +
(
1
ε1

)p

, μk = μ
(
u : eC2

ah√εk ≤ |u| ≤ u1

)
.

$	����

�� ����	
��
��
� �������� ��� DX �� ����

DXt0+h = Et0+h

∫ t0+h

t0

∫
R

E−1s �(u)ν(ds, du), Et := exp
{∫ t

t0

∂xaθ(Xτ )dτ

}
. ����

������	���  � ��� !���"���#� t0 ≤ s ≤ t0 + h �� ������ ��$�� Et0+hE−1s ≥ e−2C
2
ah%

&���

|DXt0+h| ≥ e−2C
2
ah

∫ t0+h

t0

∫
R

�(u)ν(ds, du) ≥ e−2C
2
ah

∫ t0+h

t0

∫
|u|≤u1

u2ν(ds, du) =: ηh.

��'	()��

E(ηh)−p =
∞∑

k=1

E(ηh)−p1{εk+1<ηh≤εk} + E(ηh)−p1{ηh>ε1}

≤
∞∑

k=1

ε−p
k+1P (ηh ≤ εk) +

(
1
ε1

)p

.

*
�����	

P (ηh ≤ ε) ≤ P

(∫ h

0

∫
√

εeC2
ah≤|u|≤u1

u2ν(ds, du) = 0

)

= exp
[
−hμ

(
u :
√

εeC2
ah ≤ |u| ≤ u1

)]
,



������ ����	
����	� 
�	��� ���������� ��

��

E(ηh)−p ≤
∞∑

k=1

ε−p
k+1e

−hμk +
(
1
ε1

)p

.

��������	
� ��
������� �� �� 
����� ����� �
������ ��� � �������� �

���

���
���� �  !� "�# $ "�% ��������&

���� ���� ����� ���	
�
	 ��	�� 
�� ��� � ���� ���������	� �	 ��
�� ����� Cδ

����� �	

Eδ(1)8 ≤ Cδ.

�	��

CΞ(x, h) = 27
(

4
√

C∂X(x, 16, h)C−DX(16, h)
√

Cδ

+ 4
√

C∂X(x, 16, h)C−DX(32, h)
√

CD2X(8, h) +
√

CD∂X(x, 8, h)C−DX(8, h)
)

, �'(�

CΞst(h) = CΞ(0, h)�

�	����

 � � �''� �����

Eθ
xΞh(t0)4 = Eθ

x

(
(∂θXt0+h)δ(1)

DXt0+h
+
(∂θXt0+h)D2Xt0+h

(DXt0+h)2
− D(∂θXt0+h)

DXt0+h

)4

≤ 33
(

Eθ
x

∣∣∣∣ (∂θXt0+h)δ(1)
DXt0+h

∣∣∣∣
4

+ Eθ
x

∣∣∣∣ (∂θXt0+h)D2Xt0+h

(DXt0+h)2

∣∣∣∣
4

+ Eθ
x

∣∣∣∣D(∂θXt0+h)
DXt0+h

∣∣∣∣
4
)

≤ 33
((

Eθ
x|∂θXt0+h|16

) 1
4
(
E|δ(1)|8) 1

2
(
Eθ

x|DXt0+h|−16
) 1

4

+
(
Eθ

x|∂θXt0+h|16
) 1

4
(
Eθ

x|D2Xt0+h|8
) 1

2
(
Eθ

x|DXt0+h|−32
) 1

4

+
(
Eθ

x|D(∂θXt0+h)|8
) 1

2
(
Eθ

x|DXt0+h|−8
) 1

2
)

≤ 33
(
(C∂X(x, 16, h))

1
4
(
E|δ(1)|8) 1

2
(
C−DX(16, h)

) 1
4

+ (C∂X(x, 16, h))
1
4 (CD2X(8, h))

1
2
(
C−DX(32, h)

) 1
4

+ (CD∂X(x, 8, h))
1
2
(
C−DX(8, h)

) 1
2
)

.

)��� �� *�
���+�� "�% ,(- Eθ|Xst
h |p ≤ αp

βp
� ���
 CΞst(h) = CΞ(0, h)� �

%� �������

.��/���!�� 0). ���
 �'� � x0 = 1�

aθ(x) = −2x+ sin(x+ θ), θ ∈ (0, 2π),

μ(du) =
1|u|≤1
|u| 114 du.

���1

����� �� 
1�
�!�!�!��� ����
����	
� �� +��+�� h = 1� 2
�!�� 1!�!������
!3!+�����
�	 �4�������� �!����� ����!���5 +��������� �����

θ̂n = 6789�:θ∈Θ
n∑

k=1

(
Xhk −Xh(k−1) − aθ(Xh(k−1))h

)2
.

�/!�!�
��� �����+
 ��� θ0 = 1 ��;��
 n = 2000� <4��+� θ̂n = 1.04�



�� �� �� ���	
��
� � �� �� ��
	�	��

���������	 
� N = 1000 ��
��	� � θ = 1.04� 	
���� n = 2000 �	���� ��� �	��	�

��
���� 
�����	 	����� ��������� ��������� θ̂k
2000� k = 1, . . . , 1000 �� ����	���	

s21000(θ̂n) =
1

1000

2000∑
k=1

(√
2000(θ̂k

2000 − 1.02)
)2

= 2.98.

�������	 ��� ���� !����� K1 �� K2 � "��� #�$� ��� �%	�	 ����� ��	 !���� C1
P(1)

� C2
P �� �	&	�	�	' (�	���� #�$� ��� &�������� ��	�� $) ���� ��	���� &	������	

ϕ(x) = x2� x ∈ R� (	��

Ax2 = 2x(−2x+ sin(x+ θ)) +
∫

R

((x + u)2 − x2 − 2xu1*|u|≤1)μ(du)

= −4x2 + 2x sin(x+ θ) + 2x
∫
|u|>1

uμ(du) +
∫

R

|u|2μ(du).

+!���%�� ���� μ �	!�������� �� [−1; 1]� �	

Ax2 = −4x2 + 2x sin(x+ θ) +
∫
|u|≤1

|u|2μ(du)

= −3x2 − (x2 − 2x sin(x+ θ) + sin2(x+ θ)) + sin2(x+ θ) +
∫
|u|≤1

|u|2μ(du)

= −3x2 − (x− sin(x+ θ))2 + sin2(x+ θ) +
∫
|u|≤1

|u|2μ(du)

≤ −3x2 + 1 +
∫
|u|≤1

|u|2μ(du) = −3x2 + 9,

�	
�	� &�� α = 3� β = 9 ��	�� $) ���	���	�
��� ���	����� ��	�� ,) �	!����%	� 
	
 Π > 0 -���� .$� ���������� ,�#/)� +!���%0

�� ∂xaθ(x) = −2 + cos(x+ θ)� �	 �� 1	����	' (���	��

aθ(x+ u)− aθ(x) = (−2 + cos(ξ + θ))u, ξ ∈ (x, x+ u).

(	�� |aθ(x+ u)− aθ(x)| ≥ |u|� �	
�	

Π ≥ μ
(
u ∈ Γ : ρ < |u| ≤ �

)
= 2

∫ 


ρ

du

u
11
4

.

2 	!������ ������	!�� &	������	 ρ = 1
3 � � = 1� Γ =

{
u : |u| > 1

3

}
� (	�� Π ≥ 6.6726�

����� � -$) 	������	

A1 = 3, A2 = 1.
(	�� !&������	����� ,) 
����% ���	������!%� ��
	 &	���!��

ε = 6 · 10−6, R = 9, ζ = 0.01, t = 0.05, γ = 0.8, κ = 2 · 10−8, δ = 0.8.

��� &�������� ��	�� #) �� 	�������� !����� C1
P(1) � C2

P ���	��!����	 	����� ���
32 �� χ� 	������� � .$/ -1	����� -#4) �� -56) ���&	����	)� +
����	

R0 = 3, R1 = 3, t1 = 20, c = 0.67.

(	�� ��	�� #) ���	���� ��

χ ≥ 0.6667, 32 ≤ 0.0217.

����� ��	� 
	 ��� 	
����� �	�!���� !&��������� 	�����

31 ≥ 0.2837.

(	��

C1
P(1) = 23.0499, C2

P = 0.1852.



������ ����	
����	� 
�	��� ���������� ��

�������� 	�
�� CΞ(1, 1) 	� CΞst(1)� 
 ������ ��
����

C1
a = C3

a = C4
a = 1, C2

a = 3.

��������� u0 = 1� u1 = 1
2 � ����������� ������� � �� ������� { 12 < |u| < 1}

���	�
��� �����

�(u) =

⎧⎨
⎩

u2, |u| ≤ 1
2 ,

P (u), 1
2 < |u| < 1,

0, |u| ≥ 1,

�� P (u) = −104|u|5+ 396|u|4 − 582|u|3+ 410|u|2− 138|u|+ 18� ���� � ∈ C2� �(u) ≤ u2�
|�′(u)| ≤ 3

2 �
 
���	�� �������� �	��� CDZ(8, 1)� CDZ(16, 1)� CD2Z(8, 1) 	� ������� ��������

Eδ(1)8� ���������
∫ t

0

∫
|u|≤1 �(u)ν(ds, du) = � ∗ νt� �� �������� !	� "#$� %� #&'(� ��)

*��+,)��-� ��	����+��-� m

(� ∗ νt)
m =

∫ t

0

∫
|u|≤1

((� ∗ νs− + �(u))m − (� ∗ νs−)
m) ν(ds, du)

=
∫ t

0

∫
|u|≤1

m∑
k=1

Ck
m�k(u) (� ∗ νs−)

m−k ν(ds, du).

���������� .� �����+�� �(u) ≤ u2� 	�∫ t

0

ds

∫
|u|≤1

�k(u)μ(du) ≤ 2t
∫ 1

0

u(8k−11)/4du =
8t

8k − 7
.

����

E (� ∗ νt)
m =

m∑
k=1

Ck
m

∫
|u|≤1

�k(u)μ(du)
∫ t

0

E (� ∗ νs−)
m−k

ds

≤ 8t
m∑

k=1

Ck
m

8k − 7

∫ t

0

E (� ∗ νs)
m−k

ds.

��) t = 1 	� m = 2l ��������

E (� ∗ ν1)
2l ≤

2l−1∑
k=0

8Ck
2l

8(2l− k)− 7
E (� ∗ ν1)

k ≤ 8Cl
2l

2l−1∑
k=0

E (� ∗ ν1)
k

≤ 8Cl
2l

2l−1∏
k=1

(8C [k/2]
k + 1) ≤ 8 · 92l−1

2l∏
k=1

C
[k/2]
k = 8 · 92l−1

l∏
k=1

Ck
2kCk−1

2k−1

= 4 · 92l−1
l∏

k=1

((2k)!)2

(k!)4
.


������	������ �������  	�����-� �	����/��

E (� ∗ ν1)
2l ≤ 92l−14l2+l+1el

(πl)l
.

����

E|DZ1|8 ≤ 234314e4

π4
=: CDZ(8, 1), E|DZ1|16 ≤ 2122330e8

π8
=: CDZ(16, 1).

0����+��

E|D2Z1| ≤ 3
2
E|DZ1|,



�� �� �� ���	
��
� � �� �� ��
	�	��

��

CD2Z(8, 1) =
38

28
CDZ(8, 1) =

226322e4

π4
.

�� ����	��
�� �
���������� ���	� ����� ���� �� �����  �! �

Eδ(1)8 ≤
(
18 · 83/2
71/2

)8

E

(∫ 1

0

∫
|u|≤1

(
(σ(u)�(u))′

σ(u)

)2

ν(ds, du)

)4

.

�� ��"
��	�� #
��$�% �  �! �� &�
∣∣∣ (σ(u)
(u))′σ(u)

∣∣∣ ≤ 19
4 |u|� '� 


Eδ(1)8 ≤ 236316194

74
E

(∫ 1

0

∫
|u|≤1

u2ν(ds, du)

)4

≤ 248322194e2

74π2
.

(���

CDX(8, 1) =
234314e28

π4
, CDX(16, 1) =

2122330e56

π8
,

CD2X(8, 1) = 27
(
2122330e56

π8
+
226322e4

π4

)
e24 ≤ 2130330e80

π8
.

(�) *�����+���) C∂X(1, 16, 1) ����	��� � 
 �	
 ,)�
��	� ��) #
��$�% ϕ(x) =
x16� x ∈ R� -�! �

Ax16 = 16x15(−2x+ sin(x+ θ)) +
∫

R

(
(x+ u)16 − x16 − 16x15u1.|u|≤1

)
μ(du).

��*��/� �� &�  ��� μ *�
����+��� �� [−1, 1] �� 
� ����/��� � ����+ ��) 	
�� k ≥ 2∫
|u|≤1

u2kμ(du) ≤ 1.

'� 


Ax16 ≤ −32x16 + 16x15 sin(x+ θ) +
6∑

k=0

C2k
16 x2k + 960x14

= −31x16 − x14(x− 8 sin(x + θ))2 + 64x14 sin2(x+ θ) +
6∑

k=0

C2k
16x2k + 960x14.

(�) ��+��0� k = 0, . . . , 7 �� ak > 0  �+�� *��1�� ���� bk > 0� &�

−x16 + akx2k ≤ bk ��) 	
�� x.

'� 


Ax16 ≤ −24x16 + 25777,
��"��� α16 = 24� β16 = 25777� '���

C∂X(1, 16, 1) = 215
(
1 + 1 +

25877

24

)
e48 ≤ 27177e48

3
,

CD∂X(1, 8, 1) ≤ 210531574e76

π4
.

(��� *������ � C−DX(8, 1)� C−DX(16, 1)� C−DX(32, 1)� (�) ��
����	��
�� εn = 1
n8/7 �

n ≥ 1  �! �

μn =
8
7

( n

e21/4
− 27/4

)
.

(���

C−DX(p, 1) =
+∞∑
n=1

(n+1)8p/7 exp
(
−8
7

( n

e21/4
− 27/4

))
+1 ≤ e4

+∞∑
n=2

n8p/7 exp
(
− 8n
7e21/4

)
.



������ ����	
����	� 
�	��� ���������� ��

������� ����	�
�� 
� ��� ���� n ≥ 1

n8p/7 exp
(
− 8n
7e21/4

)
≤

(
4p+ 7
4

) 8p+14
7

e
17
14 (4p+7)

1
n2

.

����

C−DX(p, 1) ≤ e4
(
4p+ 7
4

) 8p+14
7

e
17
14 (4p+7).

�
��

C−DX(8, 1) ≤
3912e52

222
, C−DX(16, 1) ≤ 221342e91, C−DX(32, 1) ≤ 3439e168.

��
�
����

CΞ(1, 1) = CΞst(1) ≤ 293319721710e94

π4
,

	�����
K1 ≤ 86.1, K2 = 0.0926.

������
���� 
� ��� ��������� �����
� 
�����
� Δ = 0.01� ��	� �	��!� ��������

exp{K1 −K2t0} = 0.01,

����������"���#� 
� ��� 
���$ 
�����
� ���
�
�#� �	�
� n0 = 980� %�����"�� 
� 1000

��"�
���& 	 θ = 1.04 �� �����
� ���� t = 981 � �� �����	��� '�� 
��"�
���& ���
980 � 981 ��������� ������("�� Ξk

1(980)� k = 1, . . . , 1000� )�� '#��� �������
���"��
*������ +,,-� ��������� ���$ !���"�� 	 ���
��� +,.- +��
���( ��	� �	�"�� ��
����
/&����-� )��� 	��������

J1000(1.04, 980) =
1

1000

1000∑
k=1

Ξk
1(980)

2 = 5.64.

��
�
���� ������("�� √
J1000(1.04, 980)s21000(1.04) = 4.1.

0� �	����"� 
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